		Hawaii Belt Road Drainage Improvements Various Locations									
-	PROJECT N	O.: 19GHJ-01-05M Net Length of Project:								STATE OF HAWAII	
	ISLAND: Ha	awaii DISTRICT: South Hilo, North Hilo and Hamakua		** NOTE:]	ONSTRUCTION		L SPECIALTY	DEPAR	TMENT OF
	DATE ADVE	ERTISED: Internet Posting - May 31, 2006		Quantities shown in			O., INC.	CONTRA	ACTORS, INC.		PORTATION YS DIVISION
	BIDS OPEN	IED: June 28, 2006	this column are for in-								
	COMPLETIO	ON TIME: One hundred eighty (180) Working Days		house use only.							
	ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
		MILEPOST 5.45			<u> </u>						
*	201.0100	Clearing and Grubbing	L.S.	L.S.	LS	L.S.	\$10,800.00	L.S.	\$15,000.00	L.S.	\$2,000.00
	206C.4100	Excavation for Void in Culvert Floor Slab	L.S.	7 C.Y.	L.S.	L.S.	\$10,000.00	L.S.	\$25,000.00	L.S.	\$10,500.00
	209.1000	Installation, Maintenance, Monitoring and Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$10,000.00	L.S.	\$20,000.00
\prec	209.2000	Additional Water Pollution, Dust and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
	313.4010	Controlled Low Strength Material (CLSM) in Culvert Floor	14	14	C.Y.	\$500.00	\$7,000.00	\$1,600.00	\$22,400.00	\$1,400.00	\$19,600.00
	503.1031	Concrete in Culvert Floor Overlay	L.S.	10 C.Y.	L.S.	L.S.	\$68,400.00	L.S.	\$85,000.00	L.S.	\$52,000.00
	612.0100	Grouted Rubble Paving	L.S.	29 C.Y.	L.S.	L.S.	\$73,000.00	L.S.	\$55,000.00	L.S.	\$34,800.00
	621C.4600	Reflector Marker RM-3 (Bi-Directional) with Flex Post	2	2	Each	\$300.00	\$600.00	\$200.00	\$400.00	\$200.00	\$400.00
X	645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	\$4,000.00	L.S.	\$20,000.00	L.S.	\$7,000.00
×	645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
	645.7200	Construction Signs with 2 Posts	4	4	Each	\$1,000.00	\$4,000.00	\$580.00	\$2,320.00	\$500.00	\$2,000.00
\times	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	L.S.	L.S.	L.S.	L.S.	\$18,000.00	. L.S.	\$22,000.00	L.S.	\$14,830.00
		SUM OF ALL ITEMS (MILEPOST 5.45)					\$210,800.00		\$267,120.00		\$173,130.00
											•

Sheet No. 1 of 9 Sheets

		Hawaii Belt Road Drainage Improvements Various Locations									
	PROJECT N	O.: 19GHJ-01-05M Net Length of Project:								STATE	OF HAWAII
	ISLAND: Ha	awaii DISTRICT: South Hilo, North Hilo and Hamakua	** NOTE: Quantities			* H.E.M. CONSTRUCTION CO., INC.		GLOBAL SPECIALTY CONTRACTORS, INC.		DEPAR	TMENT OF PORTATION
:	DATE ADVE	ERTISED: Internet Posting - May 31, 2006	shown in this column							HIGHWAYS DIVISION	
		ED: June 28, 2006	are for in- house use								
	COMPLETIC	ON TIME: One hundred eighty (180) Working Days	APPROX.	only. **APPROX.							
	ITEM NO.	ITEM .	QUANTITY	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
		MILEPOST 5.58									
×	201.0100	Clearing and Grubbing	L.S.	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$22,000.00	L.S.	\$2,000.00
*	209.1000	Installation, Maintenance, Monitoring and Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$10,000.00	L.S.	\$20,000.00
×	209.2000	Additional Water Pollution, Dust and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A	\$5,000.00	F.A.	\$5,000.00
	503.1031	Concrete in Culvert Floor Overlay	L.S.	29 C.Y.	L.S.	L.S.	\$95,750.00	L.S.	\$125,000.00	L.S.	\$108,200.00
	612.0200	Grouted Rip-Rap	L.S.	5 C.Y.	L.S.	L.S.	\$8,500.00	L.S.	\$10,000.00	L.S.	\$15,000.00
	621C.4600	Reflector Marker RM-3 (Bi-Directional) with Flex Post	2	2	Each	\$300.00	\$600.00	\$195.00	\$390.00	\$200.00	\$400.00
\times	645.0100	Traffic Control	L.S.	L.S.	LS	L.S.	\$5,000.00	L.S.	\$18,000.00	L.S.	\$7,000.00
×	645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	F.A.	\$5,000.00	\$200.00	\$5,000.00	\$200.00	\$5,000.00
	645.7200	Construction Sign with 2 Posts	4	۵	: Each	\$1,000.00	\$4,000.00	\$580.00	\$2,320.00	\$500.00	\$2,000.00
	676.0300	Pressure Injection Crack Repair	490	490	L.F.	\$35.00	\$17,150.00	\$130.00	\$63,700.00	\$125.00	\$61,250.00
X	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	L.S.	L.S.	L.S.	L.S.	\$14,000.00	L.S.	\$23,000.00	L.S.	\$21,585.00
	SUM OF ALL ITEMS (MILEPOST 5.58)						\$165,000.00		\$284,410.00		\$247,435.00

PROJECT: Hawaii Belt Road Drainage Improvements

Various Locations

	PROJECT N	O.: 19GHJ-01-05M Net Length of Project:						STATE	OF HAWAII		
	ISLAND: Ha	awaii DISTRICT: South Hilo, North Hilo and Hamakua		** NOTE:			ONSTRUCTION O., INC.		L SPECIALTY ACTORS, INC.	DEPA	RTMENT OF PORTATION
	DATE ADVE	ERTISED: Internet Posting - May 31, 2006		Quantities shown in this			O., 11 1 0.	001111	101010, 110.	HIGHWAYS DIVISION	
	BIDS OPEN	ED: June 28, 2006	column are for in-house								
	COMPLETIO	ON TIME: One hundred eighty (180) Working Days	use only.								
			APPROX.	**APPROX.							
	ITEM NO.	MILEPOST 19.36	QUANTITY	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
×	201.0100	Clearing and Grubbing	L.S.	L.S.	L.S.	L.S.	\$20,000.00	L.S.	\$21,000.00	L.S.	\$10,000.00
X	202.0440	Removal of Existing Culvert, Headwalls and Wingwalls	L.S.	L.S.	L.S.	L.S.	\$33,000.00	L.S.	\$90,000.00	L.S.	\$44,500.00
	203.0100	Excavation and Embankment	L.S.	200 C.Y.	L.S.	L.S.	\$110,000.00	L.S.	\$28,000.00	L.S.	\$10,000.00
	206C.4100	Excavation for New Box Culvert, and Inlet and Outlet Structures	L.S.	388 C.Y.	L.S.	L.S.	\$58,900.00	L.S.	\$85,000:00	L.S.	\$120,280.00
	206C.7000	Structural Backfill for Removed Culvert	L.S.	237 C.Y.	L.S.	L.S.	\$60,000.00	L.S.	\$30,000.00	L.S.	\$35,550.00
\times	209.1000	Installation, Maintenance, Monitoring and Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$4,500.00	L.S.	\$10,000.00	L.S.	\$20,000.00
1	209.2000	Additional Water Pollution, Dust and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
×	209.3000	Water Quality Monitoring	L.S.	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$100,000.00	L.S.	\$70,000.00
*	209.4000	Additional Water Quality Monitoring	F.A.	F.A.	F.A.	F.A.	\$20,000.00	L.S.	\$20,000.00	L.S.	\$20,000.00
	305.0100	Aggregate Subbase Course	L.S.	45 Ton	L.S.	L.S.	\$9,000.00	L.S.	\$15,000.00	L.S.	\$2,250.00
	312.0100	Plant Mix Glassphalt Concrete Base Course	L.S.	60 Ton	L.S.	L.S.	\$23,000.00	L.S.	\$30,000.00	L.S.	\$6,000.00
	401.0400	Asphalt Concrete Pavement, Mix No. IV	L.S.	280 Ton	L.S.	L.S.	\$97,000.00	L.S.	\$74,000.00	L.S.	\$28,000.00
×	401.0500	Asphalt Concrete Pavement, Mix No. V for Shoulder Leveling	L.S.	L.S.	L.S.	L.S.	\$40,000.00	L.S.	\$29,000.00	L.S.	\$3,500.00
X	503.1031	Box Culvert Installed	L.S.	L.S.	L.S.	L.S.	\$140,000.00	L.S.	\$150,000.00	L.S.	\$133,820.00
	503.1050	Concrete in Inlet Structure	L.S.	11 C.Y.	L.S.	L.S.	\$35,000.00	L.S.	\$53,000.00	L.S.	\$29,000.00
	503.1051	Concrete in Outlet Structure	L.S.	7 C.Y.	L.S.	L.S.	\$22,000.00	L.S.	\$32,000.00	L.S.	\$17,500.00
	606.3100	Replace Guardrail, Type 3	L.S.	160 L.F.	L.S.	L.S.	\$27,000.00	L.S.	\$12,000.00	L.S. Sheet No.	\$5,600.00 3 of 9 Sheets

1	Hawaii Belt Road Drainage Improvements Various Locations			A definition of the state of th			•			
PROJECT N	O.: 19GHJ-01-05M Net Length of Project:								QTATE	OF HAWAII
ISLAND: H	awaii DISTRICT: South Hilo, North Hilo and Hamakua		** NOTE:			ONSTRUCTION		L SPECIALTY ACTORS, INC.	DEPARTMENT OF TRANSPORTATION	
DATE ADVE	ERTISED: Internet Posting - May 31, 2006	Quantities			CO., INC.		CONTR	ACTORS, INC.	HIGHWAYS DIVISION	
BIDS OPEN	ED: June 28, 2006	shown in this column are								
COMPLETION	ON TIME: One hundred eighty (180) Working Days		for in-house use only.							
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
606.7000	Terminal Section, Type G (Modified)	L.S.	2 Each	L.S.	L.S.	\$12,000.00	L.S.	\$6,000.00	L.S.	\$3,000.00
606.9010	Portable Concrete Barrier	18	18	Each	\$2,000.00	\$36,000.00	\$2,600.00	\$46,800.00	\$3,000.00	\$54,000.00
606.9020	Portable Concrete Barrier Terminal Section	2	2	Each	\$16,000.00	\$32,000.00	\$9,000.00	\$18,000.00	\$3,000.00	\$6,000.00
612.0100	Grouted Rubble Paving	L.S.	6 C.Y.	L.S.	L.S.	\$40,000.00	L.S.	\$33,000.00	L.S.	\$7,200.00
612.0200	Grouted Rip-Rap	L.S.	6 C.Y.	L.S.	L.S.	\$12,000.00	L.S.	\$15,000.00	L.S.	\$19,200.00
621C.4100	Reflector Marker RM-3 with Flex Post	3	3	Each	\$800.00	\$2,400.00	\$195.00	\$585.00	\$175.00	\$525.00
621C.4110	Reflector Marker RM-2 (Bi-Directional) with Flex Post	2	2	Each	\$800.00	\$1,600.00	\$260.00	\$520.00	\$200.00	\$400.00
621C.4600	Reflector Marker RM-3 (Bi-Directional) with Flex Post	2	2	Each	\$800.00	\$1,600.00	\$325.00	\$650.00	\$200.00	\$400.00
621C.4620	Type II Object Marker with Flex Post	2	2	Each	\$100.00	\$200.00	\$195.00	\$390.00	\$175.00	\$350.00
623.1100	Temporary Traffic Signal System	L.S.	L.S.	L.S.	L.S.	\$85,000.00	L.S.	\$80,000.00	L.S.	\$20,000.00
623.1200	Additional Repairs to Traffic Signal Equipment	F.A.	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00
624.1000	Concrete Encased 6-Inch Ductile Iron Pipe, Class 52	L.S.	45 L.F.	L.S.	L.S.	\$25,000.00	L.S.	\$20,200.00	L.S.	\$6,750.00
624.1100	6-Inch Ductile Iron Pipe Fittings	L.S.	L.S.	L.S.	L.S.	\$1,100.00	L.S.	\$2,600.00	L.S.	\$3,000.00
624.2000	1-Inch Air Relief Valve Assembly	L.S.	1 Each	L.S.	L.S.	\$500.00	L.S.	\$2,700.00	L.S.	₋ \$750.00
624.2100	Air Relief Valve Box	L.S.	1 Each	L.S.	L.S.	\$300.00	L.S.	\$900.00	L.S.	\$900.00
629.0100	Pavement Striping and Markers	L.S.	L.S.	L.S.	L.S.	\$17,000.00	L.S.	\$17,000.00	L.S.	\$500.00
636.0100	Field Office Trailer (Not to Exceed \$32,000)	L.S.	L.S.	L.S.	L.S.	\$32,000.00	L.S.	\$32,000.00		\$32,000.00
				<u>. </u>	<u>. E </u>	<u> </u>			Sheet No	. 4 of 9 Sheets

X

X

1

×

X

		Various Locations									
	PROJECT N	O.: 19GHJ-01-05M Net Length of Project:								QTATE	OF HAWAII
	ISLAND: Ha	DISTRICT: South Hilo, North Hilo and Hamakua		** NOTE:			ONSTRUCTION CO., INC.		AL SPECIALTY RACTORS, INC.	DEPAF	RTMENT OF PORTATION
	DATE ADVE	ERTISED: Internet Posting - May 31, 2006	Quantities shown in this			00., 1110.				HIGHWAYS DIVISION	
	BIDS OPEN	ED: June 28, 2006	column are for in-house								
	COMPLETIC	ON TIME: One hundred eighty (180) Working Days	use only.								
	ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
X	636.0200	Maintenance of Trailers	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
メ	645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	\$30,000.00	L.S.	\$55,000.00	L.S.	\$50,000.00
×	645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	F.A.	\$15,000.00	F.A.	\$15,000.00	F.A.	\$15,000.00
	645.7000	Construction Sign	8	8	Each	\$1,125.00	\$9,000.00	\$325.00	** \$2,600.00	\$200.00	\$1,600.00
	645.7100	Construction Sign with Post	2	2	Each	\$500.00	\$1,000.00	\$515.00	\$1,030.00	\$300.00	\$600.00
	645.7200	Construction Sign with 2 Posts	10	10	Each	\$1,200.00	\$12,000.00	\$580.00	\$5,800.00	\$500.00	\$5,000.00
	652.1000	Cold Plane Existing Pavement	L.S.	2880 S.Y.	L.S.	L.S.	\$27,000.00	L.S.	\$22,000.00	L.S.	\$4,500.00
×	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	L.S.	L.S.	L.S.	L.S.	\$75,000.00	L.S.	\$104,000.00	L.S.	\$75,200.00
		SUM OF ALL ITEMS (MILEPOST 19.36			\$1,197,100.00		\$1,285,775.00		\$887,875.00		

PROJECT: Hawaii Belt Road Drainage Improvements

PROJECT: Hawaii Belt Road Drainage Improvements
Various Locations

	PROJECT N	IO.: 19GHJ-01-05M Net Length of Project:			:			STATE OF HAWAII			
	ISLAND: H	awaii DISTRICT: South Hilo, North Hilo and Hamakua		** NOTE:		1	ONSTRUCTION		L SPECIALTY	DEPAR	RTMENT OF
	DATE ADVE	ERTISED: Internet Posting - May 31, 2006		Quantities shown in			O., INC.	CONTRA	ACTORS, INC.	TRANSPORTATION HIGHWAYS DIVISION	
	BIDS OPEN	IED: June 28, 2006		this column are for in-			:			•	
	COMPLETION	ON TIME: One hundred eighty (180) Working Days	house use only.							,	
	ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
		MILEPOST 21.19								-	
X	201.0100	Clearing and Grubbing	L.S.	L.S.	L.S.	L.S.	\$20,000.00	L.S.	\$22,000.00	L.S.	\$1,000.00
X	209.1000	Installation, Maintenance, Monitoring and Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$10,000.00	L.S.	\$20,000.00
X	209.2000	Additional Water Pollution, Dust and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
	503.1031	Concrete in Culvert Floor Overlay	L.S.	5 C.Y.	L.S.	L.S.	\$17,900.00	L.S.	\$60,000.00	L.S.	\$21,500.00
	612.0100	Grouted Rubble Paving	L.S.	20 C.Y.	L.S.	L.S.	\$51,000.00	L.S.	\$35,000.00	L.S.	\$24,000.00
	612.0200	Grouted Rip-Rap	L.S.	9 C.Y.	L.S.	L.S.	\$14,000.00	L.S.	\$15,000.00	L.S.	\$27,000.00
	621C.4600	Reflector Marker RM-3 (Bi-Directional) with Flex Post	4	4	Each	\$300.00	\$1,200.00	\$200.00	\$800.00	\$200.00	\$800.00
×	645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	\$1,500.00	L.S.	\$20,000.00	L.S.	\$7,000.00
*	645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
	645.7200	Construction Signs with 2 Posts	4	4	Each	\$1,000.00	\$4,000.00	\$580.00	\$2,320.00	\$500.00	\$2,000.00
	676.0200	Type II Spall Repair	27	27	S.F.	\$200.00	\$5,400.00	\$250.00	\$6,750.00	\$900.00	\$24,300.00
×	676.0400	Repointing of Arch Stones	L.S.	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$35,000.00	L.S.	\$25,730.00
*	699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	L.S.	L.S.	L.S.	L.S.	\$12,000.00	L.S.	\$20,000.00	L.S.	\$15,300.00
:		SUM OF ALL ITEMS (MILEPOST 21.19))				\$147,000.00		\$236,870.00		\$178,630.00
:											

Sheet No. 6 of 9 Sheets

		Hawaii Belt Road Drainage Improvements Various Locations									
	PROJECT N	O.: 19GHJ-01-05M Net Length of Project:			:					STATE	OF HAWAII
	ISLAND: Ha	awaii DISTRICT: South Hilo, North Hilo and Hamakua		** NOTE: Quantities		* H.E.M. CONSTRUCTION CO., INC.		GLOBAL SPECIALTY CONTRACTORS, INC.		DEPAR	TMENT OF PORTATION
	DATE ADVE	ERTISED: Internet Posting - May 31, 2006	shown in this column		33., 11.3.					YS DIVISION	
	BIDS OPEN	ED: June 28, 2006	are for in- house use		,						
	COMPLETIC	ON TIME: One hundred eighty (180) Working Days		only.							
	ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
		MILEPOST 39.00									
×	201.0100	Clearing and Grubbing	L.S.	L.S.	L.S.	L.S.	\$20,000.00	L.S.	\$50,000.00	L.S.	\$15,000.00
£	202.0300	Removal of Existing Inlet Apron	L.S.	L.S.	L.S.	L.S.	\$14,000.00	L.S.	\$14,000.00	L.S.	\$14,000.00
×	203.0400	Removal of Portion of Oulet Apron	L.S.	L.S.	L.S.	L.S.	\$20,000.00	L.S.	\$30,000.00	L.S.	\$14,500.00
X	209.1000	Installation, Maintenance, Monitoring and Removal of BMP	L.S.	L.S.	L.S.	L.S.	\$5,000.00	L.S.	\$20,000.00	L.S.	\$20,000.00
×	209.2000	Additional Water Pollution, Dust and Erosion Control	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
メ	209.3000	Water Quality Monitoring	L.S.	L.S.	L.S.	L.S.	\$1,200.00	L.S.	\$100,000.00	L.S.	\$50,000.00
X	209.4000	Additional Water Quality Monitoring	F.A.	F.A.	F.A.	F.A.	\$10,000.00	L.S.	\$10,000.00	L.S.	\$10,000.00
	503.1031	Concrete in Culvert Floor Overlay	L.S.	40 C.Y.	L.S.	L.S.	\$164,030.00	L.S.	\$137,000.00	L.S.	\$90,200.00
	503.1032	Concrete in Upstream Apron	L.S.	15 C.Y.	L.S.	L.S.	\$21,850.00	L.S.	\$40,000.00	L.S.	\$34,500.00
	503.1033	Concrete in Outlet Structure	L.S.	31 C.Y.	L.S.	L.S.	\$100,000.00	L.S.	\$104,000.00	L.S.	\$58,900.00
	612.0100	Grouted Rubble Paving	L.S.	198 C.Y.	L.S.	L.S.	\$350,000.00	L.S.	\$203,000.00	L.S.	\$198,000.00
	612.0200	Grouted Rip-Rap	L.S.	62 C.Y.	L.S.	L.S.	\$21,000.00	L.S.	\$50,000.00	L.S.	\$186,000.00
	621C.4600	Reflector Marker RM-3 (Bi-Directional) with Flex Post	2	2	Each	\$300.00	\$600.00	\$200.00	\$400.00	\$200.00	\$400.00
1	645.0100	Traffic Control	L.S.	L.S.	L.S.	L.S.	\$21,000.00	L.S.	\$75,000.00	L.S.	\$10,000.00
X	645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	F.A.	F.A.	F.A.	F.A.	\$5,000.00	F.A.	\$5,000.00	F.A.	\$5,000.00
	645.7200	Construction Sign with 2 Posts	4	4	Each	\$1,000.00	\$4,000.00	\$580.00	\$2,320.00	\$500.00	\$2,000.00
			1				L. Arrest			Sheet No.	7 of 9 Sheets

	Hawaii Belt Road Drainage Improvements Various Locations									
 ISLAND: Ha		** NOTE: Quantities shown in			* H.E.M. CONSTRUCTION CO., INC.		GLOBAL SPECIALTY CONTRACTORS, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVERTISED: Internet Posting - May 31, 2006 BIDS OPENED: June 28, 2006 COMPLETION TIME: One hundred eighty (180) Working Days			this column are for in- house use only.							
ITEM NO.	ITEM	APPROX. QUANTITY	**APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
653.1000	Grout Bags at Cuivert Outlet Structure	88 .	88	C.Y.	\$465.00	\$40,920.00	\$900.00	\$79,200.00	\$550.00	\$48,400.00
699.1000	Mobilization (Not to Exceed 10% of the Sum of All Items Excluding the Bid Price of this Item and Force Account Items)	L.S.	L.S.	L.S.	L.S.	\$75,000.00	L.S.	\$87,000.00	L.S.	\$74,100.00
	SUM OF ALL ITEMS (MILEPOST 39.00)	ı				*** \$878,600.00		\$1,011,920.00		\$836,000.00

X

PROJECT NO ISLAND: Ha DATE ADVE	Hawaii Belt Road Drainage Improvements Various Locations D.: 19GHJ-01-05M Net Length of Project: Iwaii DISTRICT: South Hilo, North Hilo and Hamakua RTISED: Internet Posting - May 31, 2006 ED: June 28, 2006 DN TIME: One hundred eighty (180) Working Days	** NOTE: Quantities shown in this column are for in- house use only.			CONSTRUCTION CO., INC.		AL SPECIALTY RACTORS, INC.	DEPAF TRANS	OF HAWAII RTMENT OF PORTATION AYS DIVISION
ITEM NO.	DESCRIPTION .	APPROX. **APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	SUM OF ALL ITEMS (MILEPOST 5.45)				\$210,800.00		\$267,120.00		\$173,130.00
	SUM OF ALL ITEMS (MILEPOST 5.58)				\$165,000.00		\$284,410.00		\$247,435.00
	SUM OF ALL ITEMS (MILEPOST 19.36)				\$1,197,100.00		*** \$1,285,775.00		\$887,875.00
	SUM OF ALL ITEMS (MILEPOST 21.19)			:	\$147,000.00		\$236,870.00		\$178,630.00
	SUM OF ALL ITEMS (MILEPOST 39.00)				*** \$878,600.00		\$1,011,920.00		\$836,000.00
A SECULAR PROPERTY OF THE PROP	SUM OF ALL ITEMS				*** \$2,598,500.00	•	*** \$3,086,095.00		\$2,323,070.00
	Hawaii Product Preference				(\$12,437.00)		\$0.00		\$0.00
***************************************	AMOUNT FOR COMPARISON OF BIDS				*** \$2,586,063.00		*** \$3,086,095.00		\$2,323,070.00
						-			

^{*} H.E.M. Bid Rejected** Extension Error

Project Manager: Roy Shioji Date: August 7, 2006

^{***} Corrected Amount